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1. (1) What is meant by Primary data ?
ECONOMICS i it o
(Quantitative Methods) B TR T ‘
5 Rt < (ii)) What is Gantt chart used for ?
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(ii1) Define Mode.
FgeTh ol qRHIEE it |

(iv) What is Discrete Series ?
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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given

instructions. wfoed Soft 1 % 2
T - T8 yv-us ‘e, ‘e’ oiR ‘e’ 9 wvel § fawifsa ®) (v) What do you understand by standard
Y% @UE & FRITgER Ie &% IW I deviation ?
Section-A 7x2=14 yAY fauem ¥ o9 = 99ed § 2
(Very Short Answer Type Questions) (vi) What is the meaning of skewness ?
Note .— Answer all questions. As per the nature of the fororar @7 @@ w1 & 2

question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks. Y& % TS H YR I8 R ¥ 2

(vii) What is Base year in context of Index no. ?
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Section-B 4x7=28
(Short Answer Type Questions)
Note -— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.
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2. Define Statistics. Describe its functions and
importance.
qifedent &1 IRYTST ST 386 & T HEA HI
U I |
3. Write the properties and defects of Mode.
FgAF B U T o fAfen |
4. From the following table, find the missing
frequency, if median value = 45 :

Class Frequency

0-20 2
20-40 28
40-60 ?
60-80 10
80-100 8
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0-20 2
2040 28
40-60 ?
60-80 10
80-100 8

5. The following data shows the rain (in inches) and

production of wheat (in Quintals) :

Rain Production
(in inches) (Quintal)
Mean (X) 43 10
Std. Deviation (o) 73 12
Correlation coefficient 0.75

If rainfall is 42 inches, what will be the production

of wheat ?
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frefafea e o iR ﬁi H HHA 6 I 9. What is Consumer Price Index ? What are the
(forreat) =1 <9ld © ¢

problems faced in the construction of Consumer

et ERICE] Price Indices ?
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meg (X) 43 10 EARRCRIR C C  s
ELIERCECEN()) 73 12 Section—C 2x14=28
e 0.75 (Long Answer Type Questions)
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6. What is time series analysis 7 Describe its

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.
components and importance.
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Each question carries 14 marks.

c oo gus—"
g 1 JUM HINT |
7. Explain in brief the various methods of (& S 5w
Interpolation and Extrapolation. frder o forll 1 el & ST AT ST ST ST R At
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8. Define Correlation. Explain the importance of 10. What are the types of Statistical Averages ? Discuss
study of correlation. the essential properties of an Ideal Average.
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11. Calculate coefficient of Skewness :

Class Frequency
0-10 10
10-20 12
20-30 18
3040 25
40-50 16
50-60 14
60-70 5
ot g
0-10 10
10-20 12
20-30 18
3040 25
40-50 16
50-60 14
60-70 5
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12. What is the utility of Index Numbers ? Why is
Fisher’s Index Number considered to be Ideal index

number ?
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13. Distinguish between :
(a) Dispersion and Skewness
(b) Questionnaire and Schedule
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